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Section £.3

8. Letf:R — R be such that f ‘(x) = f(x) for all x € R. Show that there exists K € R such that
f(x) = Ke” for all x € R.

This is o glirect conSesidnce of  Theorem £.3.¢
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Secti n g M
8. Iff: R — R is such that f“(x) = f(x) for all x € R, show that there exist real numbers «,

such that f(x) = ac(x) + Bs(x) for all x € R. Apply this to the functions f;(x) := ¢ and

f2(x) :=e™ for x € R. Show that ¢(x) =3 (e* +¢7) and s(x) =1(e* —e™) forx e R
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Section 67/

2. Show that if a series is conditionally convergent, then the series obtained from its positive terms

is divergent, and the series obtained from its negative terms is divergent.
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Section 4. |

7. (a) If > a, is absolutely convergent and (b,) is a bounded sequence, show that ) a,b, is
absolutely convergent.
(b) Give an example to show that if the convergence of »_ a, is conditional and (b,) is a
bounded sequence, then ) a,b, may diverge.
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